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Part { (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct -
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1 2,3 or4) onthe
Optical Answer Sheet.

1.  The animals beiow have been grouped according to the way they breathe. |

~ Animals

A B C D

-

Seahorse Mosquito larva Dolphin Tubifex worm

in which groups should the tadpote ahcj guppy be placed? -

Tadpole Guppy
). A ' A
21 B D
4) C B _

2. Minghua recorded his heartbeat rate within 1 hour. He plotted a graph with the
data he has obtained as shown below.

Heartbeats per minute
136 _

120 4 o _
o R A— AN
76— ' %

o888

. T T T T T T T T :' T T ¥ Time (Minmes)
0 5 10 15 20 26 30 35 40 45 50 65 &0 -
Based on the graph above, how long did Minghua exercise?

1) 30 minutes | 3) 40 minutes
2) 35 minutes 4) 60 minutes



Jack tested Materials A, B, C and D for their propeztles and made the following
observations as shown in the table below :

ri \ i
Properties N /B’\ c | b
Transparent x x | x | v
Good conductor of heat ' x x x
Breaks easily whendropped | X x x x
Melts easily x v x s

Which of the materials is most suitable for making fandles;of cooking pots? |

D1FA only %A and B only
2.C only #5C and D only

Xiaoming conducted an expenment and recorded his observations in the table
below. Based on the data, what is/are the possible aim/s of the experiment?

Plant | Numberof | Amount of wa_ter in the Amount of water in the
leaves on | bheaker at the start of the | beaker at the end of the
the plant exporiment experiment
A - 25 200m!. . 167mi
8 34 200mf 150mi
C 14 200ml 185mi
D 47 200mi 134mi

The aim of the experiment isfare to find out if the

A: type of plant affects the amount of water taken in by the plant
B: number of leaves on the plant affects the rate of evaporation of the water
C: the amount of water in the beaker remains thg same at the end of the

experiment

D: the number of leaves on the plant affect the amount of water taken in by the

plant

1) B only
2) D only

3) A and C only
4) 8, Cand D only




Which of the folowing statements about our body systems are true?

A: The digestive system absorbs digested food. '

B: The nose, guliet and lungs are parts of the respiratory system.

C: The circulatory system transports digested food around our body.

D: The respiratory system transports oxygen from the lungs to ail parts of the body.

78.A and C only _ (A, Band C only
2¥B and D only A, C and D only
Gopal set up an experiment as stiown below.
; Celery Celery . Celery|
Membrane X i stalk Membran y stalk stalk

N
i

‘Fap water coloured Tap water coloured |

purple with Substance P | purple with Substance P Tap water
Set-up A _ Set-upB. | Sétoup C

The base of the celery stalks in Set-up A and B are wrapped with Membrane X
and Y respectively before placing them into the beaker of tap water that has
been coloured purple with Substance P. The celery stalk in Set-up C was placed

in tap water. 3 days later, Gopal noted his observations of the 3 celery stalks in
the table below.

: Set-upA Set-up B - Set-upC
Observations | Leaves are green {.eaves are Leaves are green
and firm _ yellowish and floppy | and firm

~ Which of the following statement/s can be concluded from Gopal's experiment?

A: Water can pass through Membrane X.
B: Substance P can pass through Membrane X but not Membrane Y.
C: Substance P in Set-up B prevented the celery stalk from taking in water..

D: The leaves of the celery stalk in Set-up B will be firm if the base of the cetery
stalk was not wrapped with Membrane Y.

)n,- A only - X{ B, Cand D only
AandDonty ' }KA,CandDon!y



Study the electric circuit below and determine how wires'P and Q could be
oonnected Which of the connections a(lgw the bulb to light up? ,
@ bub o

— wire "

battenes P Q

’><° g s

' ) S L aluminium
)‘f\AandDonly : g / A.BandDomy
?{’C andDonly - S ABCandD-

Studythe fiowchart below.

Matenals

| W |
X
z
sed on the flowshart above, which of the following statements are definitely
rue? - - | .
A: W cannot conduct etectricity.

B: Y is a good conductor of heat but is non-magnetic.
C: Z is magnetic but is a non-conductor of electricity.
D: X is a poor conductor of heat but is a conductor of electricity.

A only >3§\C and D only
A and B only _ 24yA, B and D only



9. Minah wants to find out which of her 2 magnets has a sfronger magnetic strength.

Which of the following pair/s of set-up/s should she use in order to canry out a
fair test? :

»

—+— Magnet A —+——— Magnet B _
tron ' : fron
P(E : Pps
' 7cm _ fcm
( | —+— Magnet A —— Magnet B
Aluminium’} | Aluminium -
-PE’S Pins &
—— Magnet A - MagnetB
Steel Steel
Pi 'y Pins
M M&ﬂ’
——— Magnet A ——— Magnet B
Aluminium, Steel
Pins ' : Pins
. \ !E fem , ‘ § 7oem ’
MJA only 24 and D only
~2) A'and B only - (A BandDonly



10.

11

12.

. Sﬁxdy the. circuits beiow- .. .'

® R
i T Ly b
Circ'_.;_it A _ Clrcwt B ~ Circuit C pi;wit D

Arange the circuits in order from the one with the brightest bulbs £ the circut
with the least bright bulbs. (Bulbs and batteries in aff the circuits are similar)

2B.CAD 4)D,C,A B

TPPeS

The diagram below shows an electromagnet. The magnetcau only attract 2 pins.
What can be done to increase the number of pins that the magnets can attract?

E;ectrg?nagnet_ | Q\QG’ 0
' A

Pins

A: Add more batteries to the circuit.
B: Incréase tHe number of pins available.

€: Move the electromagnet closer to the pins.
D: increase the number of coils of the wire around the electromagnet..

% and D only " BJA CandDonly
B

and C only _ \,IA, B,CandD

Which of the following statements about heat arid temperature is/are corect

A: Heat s a form of energy.

B: Heat is @ measure of how hot something is. .

C: Heat travels from a hotter place to a cooler place. . _ .

D: An object has an increase in temperature because it has lost its coldness.

A and C only YA, B and C only
B and D only %A B,Cand D



13.

Betty wants to find out if the ¢olourior the

rfacel has a larger impact on

the amount of heat absorbed by an object. Which of the following containers
should she use to conduct her experiment? .
Containers Colaur Material | Surface
A ' Pink fron Shiny -
B Black Aluminium { Matte
€ - Red - . Copper | Matie
D Dartkbrown | Copper | Shing/
E __Pink fron | Matte
F Dark brown { = fron - Matte
G Black - Copper Shiny
H Red Aluminium | Shiny
AA EandF

ja’\B,GandH

C.DandE
73D, Fand G -

14.  MrLim placed Material W, X, Y and Z in between 2 glass containers and poured
water at 98°C into each of the inner glass containers. He then measured the _
temperature of water after 40 minutes. The temperature of water in each set-up
at the end of the experiment are shown in the diagrams beiow.

L

Material W

Glass Material Z

containers \L

Which material should he use to make an ice container to prevent the ice from

meiting quickly?
HwW 3} Y
2) X 4z



in each of the set-ups below, the temperature of the water at the start of the

15.
experiment was 25°C.
— Water e Water &— Water
Candle Candle — Candie
flame flame " l l - flame
Setup A Set-up B Set#ip C
What is the most likely temperature of water in each set-up after 5 minutes?
Setup A_ Setup B Setup C |
1) 47°C 65°C - 88°C
2) 81°C 87°C - 43°C
3) 90°C 56°C 37°C
49 45°C 84°C _79°C
16. Samuel attached a rod made of Material P to a rod made of Matenal Qas
shown, He wrapped a piece of cloth over botti rods ahd heated itovera fiame for
8 minutes.
Cloth
Rod made of . Rod made of
Material P \L Material Q
< Candte

He noticed that only the part of cloth that has been wrapped over the rod made
of Material P is scorched. Which of the conciusions can he make from his

expetiment?

A: Material P is a poor conductor of heat.
8: Material P is a good conductor of heat.

C: Material Q is a poor conductor of heat.

D: Material Q is a good conductor of heat.

YA only m and C only
258 only ¥ A and D enly



17.  Which of the following graphs correctly shows the rate of photosynthesis and the

intensity of light?
1) Rate of 3)Rate of
photosynthesis photosynthesis
A A .
Intensity ' > intensity
of light of light
2) Rate of _ . 4) Rate of
photosynthesis " photosynthesis
N ‘ _ A

Intensity
of light

7 of light

18.  Aminah placed some Water Plant X under cer conditions. She used a device
to-Coflect the gas given out by Water Plant X agd, purnpe

od. putaped: i into a test-tube of
lime water. The limewater'did not tumn chalky. W ¥at eatt be-deduced from
Aminah's experiment? o
Device to collect .
- the gas given out -
Water—1—
Beaker——>1 " Water Plant X

A: Water Plant X was placed under fight.

B: Water Piant X did not carry out photosynthesis,

C: Aminah conducted the experiment in the morning.

D: The water in the beaker has dissolved gases at the start of the experiment.

Aand D only ) B and C only
- and-C onty A Cand Donly



19.  For some plants, not all paru:;'of the leaf contain 'chio'rop'hyli The leaf below has
been tested for starch and the parts that have been shaded shows that the
iodine on the {eaf has tumed dark blue.

- Key: :
| H fodine tumned dark bive

lodine remained yellow

Which one of the following leaves correctly shows the shaded parts of the leaf
that contains dﬂorophyll? '

10



20. James had 4 pieces of

paper of different shapes and made of different materiais
as shown below.

Heart-

shaped
hole

v

Material A Material B Material C Material D
He placed the 4 different materials one in front of the othar as shown in the
diagram below o
_ Matenal C
Materjal A

l“

N

Mat_erial B Material D

James then recorded his observations on Material C _érid D as shown below
- Observation on Material C Observation on Material D
Light patch

~ Shadow

I
Shadow

. Which of the f_oildwing shows the degree of transparency of Material A, B, Cand

D respectively?
Material A Material B Material C Material D
1) Transparent - Transparent Opaque Opaque
2) Opaque Opaque Opaque Transparent
3) Opague Transparent Opaque Opaque
4){ Opaque Transparent | Transparent Opaque

| 3




21.  The diagram below shows the development of a piant.

T

X e

e

if Stage A stands for germination, between which 2 stages will the fruit and seed start

to develop? _
1) Between Stages A and B 3) Between Stages C and D
2) Between Stages BandC - - - 4) Between Stages D and A

22.  The diagrams below show the life cydes of Animal X, Animal Y and Animaf Z.

N W ataaN fegg\

Adutt Nymph | Aduit tadpote | ~9ult
._ : Pupa

Animal X Animal Y Animal Z

Which of the folloﬁmg _ﬂmlaﬁnes and differences of the life cycles above is/are
true? , A

jean the life . Differences between the life
cycles of Anlm:‘l X and AnimalY | cycles of Animal Y and Animal Z
X |Bothhave3 stages in their life Animal Y has 3 stages in its fife
' cycles. _ cycle but Animal Z has 4 stages.
P.( Both {ay eggs in water. Animal Y lays eggs in water but
Animal Z does not.
y( Both their young look fike their The young of Animal Y look like its
respective aduits. aduit but the young of Animal Z
. does not.

A only : B and C only
‘A and B only . BandC

12



23.

Which of the following correctly indicates parts X and Y respectively?

X Y.

Ova Womb

25 Testes Penig
P8 Ovary. Vagina
AN Penis Testes

24, | The diagrém betow shows the family tree of Mr Tan.

.

5_1

Mr Tan

¢

§
O O

3

Male

O Female

How many granddaughters does Mr Tan have?

)6
2

33
44

13




25.

26.

27.

Shuhui made some observations of Substance P, Q, R and S in the table below.

Suhstances | Definite shape | Can be compressed
P Yes No
Q No No
R No Yes
S " Yes No

Which of the foliowing statements can be concluded from her findings?

A Substance Risagas.  ~ D:Substancs Q has no defirite volume.
B: Substance Q is a fiquid. E: Substance P, Q, R and S have mass.
C: Substance P and S are solids. .

%{-\ and B oniy 2.8, C and D only
C

and D only - AA B CandEonly

Meiling filled a synnge with 10mi of air and 10m! of water. She plaoed her thumb
over the nozzie and plunged in the plunger I

A ‘ I == : Plunger
i —

10mi of air and
Nozzie 10mi of water

What is the most likely total volume of air and water in the syringe after Mellmg
has plunged in the plunger?

1) 6mi 3) 13ml

© 2) 10ml 4) 20mi

When 100g of Materia@:s placed into a tank of water, the water ievel rose up to
the level marked ‘A’ as shown in the diagram below:

<—A

<+— Water

Material X > 100g

When the 100g of Material X is removed and replaced with 200g of Materi @
what will happen to the water level in the tank'?

1) The water level will be above *A’.

2) The water level will remain at ‘A’

3) The water level will be lower than ‘A’.

4} it is not possible to tell without doing the experiment.

14



28. 4 different liquids at 25°C are placed in a trough containing water at 95°C. 4
similar thermometers are placed into the liquids and their temperatures were
observed after 10 minutes as shown in the diagram betow.

Finatl readings of thermometers

<—Trough with
water at 95°C

Lquid W . LiqudX  LiquidY  Liquid Z
Which of the following conclusions can be made from the experiment?
A Liquid W is a better ccndu;::tor of héat than Liquid X.
B: Liquid X is a better conductor of heat than Liquid Y.
C: Liquid Y is a poarer conductor of heat than Liquid Z.
D: Liquid Z is a poorer conductor of heat than Liquid W,

M and B only- . C and D only
» and D only . A B CandD

29.  Lindawants to find out if the exposed surface area of the water will affect its rate
ofevaporation. Each of the container below contains 100mi of water. Which pair
of containers wilt be the best choice for Linda to conduct her experiment?

U=

Aand B : and D
and C DandE

15



30. Study the set-ups of an expenment as. shown beiow

Sef-up A -[ce-cubes

_Set~up-C

Watch glass | Watch glass
<— Plastic container -~ Plastic container
Water at I XS 'Wz-;ter at
- 1eC . o : 30°C
Cuptocollect = . - Cup to collect -
- water droplets o water droplets
Set-up D | _
- Watch glass | . p A< Watch glass
e Plastic container - e P]asﬁc contalner
Cod A [SZ—Water at o [ Watér at
90°C | g B - 90°C
Cup to collect Cup to collect

water droplets . - : : water droplets -

If the room temperature is 30°C, in which set-up will there be the most amount of
water in the cup at the end of 15 minutes?

) s

16
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Name: _ . ¢ )
Class: Primary5 . '

Pait Hl {40 marks)
Answer all the following questions.

31.  Study the classification chart below. Write down a suitable heading for each of the

boxes. {(2m)
Animals
[
a)f 1 b
l
- Frog
. Lizard
Snake
Goldfish
<) d)
| I
Tiger _ Duck
Whale Eag]e
Rabbit Ostrich
Piatypus {  Sparrow




32.

b)

Lynn conducted an experiment to find out the rate of reproductlon of dtffefent
organisms at different temperatures.

Number of Organism X
Temperature | 0 min 2 min 4 min 6 min 8 min
10°C 10 10 10 10 | 10
25°C 10 18 31 49 66
40°C 10 25 | 48 70 . 102
55°C ° | 10 10 14 14 27
70°C 10 10 10 10 10
8§5°C 10 10 10 10 10
Number of Organism Y -
Temperature | 0 min 2 min 4 min 6 min 8 min
10°C 10 10 10 16 {10
25°C 10 10 10 15 15
. 40°C . 10 29 - 58 86 108
55°C 10 38 - 64 98 136
70°C 10 20 38 82 . 97
85°C 10 10 10 10 - 10
Number of Organism 2
Temperalure 0 min 2min | 4min | 6 min 8 min
10°C 10 17 34 . 48 56
25°C .10 23 42 67 89
40°C 10 45 89 121 156
55°C 10 33 56 87 106
70°C 10 25 54 71 88
85°C - 10 10 10 10 10

Why did Lynnuse 10 organisms at the start of the experiment instead of 1? {tm)

Which organism reproduced the fastest at 55°C? (1m)

Which organismi can reproduce in the widest range of temperature? (1m)




33. .

a)

b)

b)

The diagram below shows the human cheek cell. -

Which part, A, B or C controls the activities in the celi? (%m)

Which part, A, B or C controls the substances that can pass in-or out of the cell?

Name 2 parts of a. plant cell that cannot be found in an animal cell. {(1m)

The diagram below sheﬁs“ﬁiiman circulatory system.

e All parts of the -

body
A Llc
X
-«
_ {D
¥ .
i

What parts do X apd Y represent respectively? (1m)

X:

Y:

Which armrow/s represent/s blood rich in oxygen? {1m)




35.  Mary used a circuit tester to test-a circuit card and tabulated-the results:ir a table
as shown below. :

B . -yt JE
= — c | O F
CircuitCardR Circuit Card U
a)  Which of the following circuit card/s could she h_av_e tested? (2m)
b) What could Mary have done to idéntify the éonnections' in the circuit card more
accurately? (1m}
¢} Which 2 cards will have exactly the same results when tested with a circuit tester?

Bid the bulb light up?

Clips tested
Aand B No
Aand E No
Aand F No
BandC " Yes
Cand E No.
DandF No
JE B e
. cp= F
CircuitCard P-

Circuit Gard T

© » ClreuitCards. - -

(im)




36.

a)

b)

c)

d)

Study the circuit diagrams below.

Circuit P : D

if all the switches in Circuit P are closed and Bulb A is fused, how many bulbs will
light up? (1) |

if Switch W and Switch X are closed in Circuit P and Switch Y and Switch Z are

open, how mang bulbs will light up? (1m)

Which switch when open, will not allow any bulb to light up? (1m)

in Circuit Q below, mark an ‘X' on the circuit to indicate where you would place a
switch such that the switch will be able to controt ali the buibs. (1m)

Circuit Q

Qe Qe @e Q°




37a.

For each of the scenarios, indicate if the bulbs/electrical devices should be -

connected in series or in parafiel. (3m)

Scenarios

I

Should the buibs/

.electrical devices be

connected in series or in
paraile{?

Electrical devices in a house that can be controlled
independently.

Oven connected to a fuse to prevent overheating.

Toy car that comes with 3-way switch that allows the

child to tum on either the blue light or the red fight.

Able to switch on the famp |
%at the top of the stairs

..

]

* Mr Lim wants to be able to switch on a lamp when he is either at the top of the
~ stairs or at the bottom of the stairs. , _

Able to switch on the lamp
at the bottom of the stairs

Put a tick (v} in the correct box below ta indicate the circuit diagram that correctly

‘shows the connection of Mr Lim's lamp. (1m)

D S | )

|

P
: e |

Power ¢ | 4
supply -

i)

®

/

Power
supply _




38. Minghua wanted to find out the degree of transparency of Materials P, Q, R and S.
He set up his experiment as shown below.

Light Detector

Torch

Each material was placed at Position X afid the amount of Itght detected by the
light detector was recorded in the table below.

Type of Matarial Amount of light detected (Lux)
P 550 °
- Q 320
"R 600
g 240

Draw and. lahel a‘bar graph using the data of Minghua’s expenment An'ange the
materials starting with the one that is the most translucent to the matenal thatis

the least translucent. (2m)

Degree of Transparency

+ Type of Material




39.-

40.

b)

in the dzagram ‘below, add in 2 arrows to indicate the exchange of gases during.

photosynthesis. (2m)

Plapts -

Carbon dioxide

Oxygen

'_ Animals

Aminah conducted an experiment using different materials to cover ice blocks.

- Covered with |- -Covered with Covered with

| Matorial X Material Y | Material Z
Time taken | o ) _
for ide block |~ 72 minutes 55minutss | 48 miriutes |
to melt ' '

What was the aim of Aminah's experiment? (1m)

Name 2 va'tiables that must be kept the same to conduct a fair test. (1 m)

Which material, X, Y or Z do you think is the most suitable for making the base of a

cooking pot? Give a reason for your answer. (1m)




41. Sam carried out an experiment as shown below.

Glass tank filled
with hot water

l

Vv

Metal plate -

— Plastic plate

if he kept all the controlled variables the same, which cork would fall off first? Give
a reason for your answer. 2m) o '




42.  The diagram below shows the water cycle.

'R

Process )ﬁ - \/

Q | Rain

Pl‘ocess/‘lk : P /

a) Name Process X and Process Y. {1m)

Process X:

Process Y:

b)  inthe table below, put a tick (v').inthe appropriate column to indicate if there is
heat gain or heat loss in the water when it goes through Process X and Process Y.
{tm)

Process Heat gain Heatloss
i) X

if) Y

10



43a. Observe the diagram of the cross-section of the flower below.

Classify parts A, B, C, D, E and F in the classification chart below. (3m)

Reproductive parts of a Flower

Male

Female

|

b) Tim said that Part F will develop into a fruit after fertillisation has taken place. Do
you agree with him?7 Give a reason for your answer. (1m)

it




44.  Study the diagrams of the fruits below.
Seeds

Fibrous
husk
Hool
Frult of Plant X Fruit of Plant Y Fruit of Plant 2
< o)
» A o Q A
Sea ) . Lo 20 o
. o
& O o]
A s
‘ B
L 2
A
. A
A
o]
) O A
. °o .
o o :
. O O O
L 2 A o A IR *
O Qo 0O 0
A o]
¢ A o A

The map above shows the distribution of the Plants X, Y and Z:
a).  Which of the following symbols represent Plants X, Y and Z fespecﬁvely? (1%m)

iy e

i) A

iy ©:

b)  How does having a fibrous husk help Fruit Z in its dispersal? (%m)

¢}  Explain how the d1spersai of the fruit and seed of Plant X is drffereﬁt from the
- dispersal of the papaya seeds. (2m)

12



Answer

- -~

EXAM PAPER 2009

SCHOOL : SCGS PRIMARY
SUBJECT : PRIMARY 5 SCIENCE

TERM : SA2
QL Q2 1Q3 | Q4105106 Q7 1 Q8 Q9 QL0 Q11 [Q121Q131Q14 | Qi5] Q16| Q17
113 4 2 1 2 4 4 1 1 3 1 1 4 1 4 3
Qi8[ Q191 Q201 Q21 1Q221Q23 | Q24| Q25| Q26 | Q27 | Q28 Q29 | Q30
1 2 3 3 1 3 3 4 3 4 3141 2
31)a)cold-blooded b)warm—blooded c)mammals d)birds
32)a)To ensure accuracy of the results.
b)Organism Y.
c)Organism Z.
33)a)Part A.
. b)Part B.
c)Cell wall and chioropfast.
34)a)X: heart  Y:lungs
b)Arrows A and B.
35)a)Circuit cards S, T and U.
‘b)Test more pairs of clips.
c)Cards T and U.
36)a)4 bulbs.
b)0 hulbs.
c)Switch Z.
d) ‘Ei;uitg ]
A 8 %c 0
"Pagelto3 page 1



Answer Key


37)a)i)Parallel ii)Series . iif)Parallel

+ Type of Mateial

a)

b)ii)
38)a) Lty

Gm__ -

17 %

el ¥ Vel N 47 -

' nob_a'/- / / ?
RIZEzE7n

R Q

39)

40)a)it was to find out whether material X, Y or Z are better insulators of heat.

b)They are the size of the ice blocks and the place where the ice block
were placed.

c)Material Z is the most suitable for making the base of a cooking pot.

Material Z is the best conductor of heat among the three materials and heat
the fastest.

41)A. Metal is a better conductor of heat than pIastlc, so it will conductor heat
to Wax A faster.

42)a)X: condensation . Y: Evaporation
b)i)Heat loss . ii)Heat gain

43)a)Male: A, B Female: C,D,EF
b)No, I do not agree with him. Part F is the ovule of the flower and will
develop into a seed and not a fruit after fertilization has taken place.

Page 2



44)a)i)Plant Z
ii)Plant X
ii)Plant Y
b)It has air in it and allows the seed to float on water.
c)The hooks of plant X cling onto the animals fur, while the papaya seeds
are eaten by animals and excreted.

Page3



